TOLSEN

PART LIST

LI-ION CORDLESS
ANGLE GRINDER

20V | 87274

No. Description Qty No. Description Qty
1 Outer Flange 1 23 Bearings 608-2RS 1
2 Inner Flange 1 24 O-ring 21.5x1.8 1
3 Wheel cover 1 25 Bearing cover 1
4 Screw M4 x 16 4 26 Screw M4 x 12 2
5 Output shaft 1 27 Rotor 1
6 Dust cover 1 28 Bearings 607-2RS 1
7 Front cover 1 29 Stator 1
8 O-ring ¢43%1.8 1 30 Right chassis 1
9 Bearing 6201-2RS 1 31 Screw ST3x 14 F 7
10 Spring ring 32 1 32 dust cover 2
1 Big gear 1 33 Motor housing(Left) 1
12 HKO810 Needle bearing 1 34 Pushing block 1
13 Self-locking pin 1 35 Switch rod 1
14 O-ring @4x1 1 36 Switch lever 1
15 Screw ST4 X 22 F 4 37 Rubber column 2
16 Self-locking spring 1 38 Positioning pin 1
17 Self-locking cap 1 39 switch 1
18 Gear cover 1 40 Lampshade 1
19 Nut M6 1 4] Control board 1
20 Wool rope 1 42 Machine pin holder 1
21 Pinion 1 43 Wrench 1
22 Gasket 6.2 x18.9x0.3 1




TOLSEN ANGLLGRINDER. 20v | 87274

ASSEMBLY DIAGRAM




